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QUESTION 1

See the specification below: 

Apply the Decision Table Test to the above specification. When doing this, use the coverage type multiple condition
coverage. How many logical test cases result in an error message? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

 

QUESTION 2

What is not an element of a test case in relation to the system behavior to be tested? 

A. action 

B. defect 

C. initial situation 

D. predicted result 

Correct Answer: B 

 

QUESTION 3

What is not one of the aims of the \\'testability review test basis\\' report? 

A. providing feedback on the quality of the test basis and its impact on the planned test procedure 

B. gaining an insight into the estimation for the test procedure 
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C. obtaining information on project risks 

D. discussing the weak spots in the system design on time 

Correct Answer: B 

 

QUESTION 4

Which defect has an internal cause that can be solved within the test team? 

A. a defect in the test basis 

B. a defect in the test specification 

C. a defect in the test object 

Correct Answer: B 

 

QUESTION 5

The possible results of every condition are tested at least once. To which coverage type does this refer? 

A. condition coverage 

B. condition/decision coverage 

C. decision coverage 

D. modified condition/decision coverage 

Correct Answer: A 
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